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6.4a Exponential Growth and Decay
separation of variables:

dy 2x

find a general solution ——
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Law of exponential change:

If y changes at a rate,proportional to the amount present:

where k is the growth
or decay constant
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Suppose you deposit $600 in an account that pays 5.2%
annual interest compounded continuously. How much do

you have 8 years later? 5.2
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How long will it take $5000 to double at 7%, compounded
continously?
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Radioactivejecay and half-life:
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Find the half-life:
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The half-life of carbon 14 is about 5700 years. Find the age
of a sample in which 10% of the radioactive nuclei originally

present have decayed.
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Suppose an experimental population of fruit flies increases
according to the law of exponential growth. There were 100
flies after the second day of the experiment and 300 flies after
the fourth day. Approximately how many flies were in the
original population?
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